
ВАФЕЛЬНИЦА HURAKAN HKN-GES210 NUT 

1 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



ВАФЕЛЬНИЦА HURAKAN HKN-GES210 NUT 

2 
 

 

Поз Наименование детали 

1 Panel 

2 Power indicator 

3 Heating indicator 

4 Thermostat(300℃) 

5 Thermostat negative plate 

6 Knob of  thermostat 

7 Knob of timer 

8 Timer 5-minute 

9 Baseplate 

10 Screw M5*16 

11 Rubber feet (φ20) 

12 Base shell 

13 Lock PG11 

14 Nut nickel-plated M4 

15 Ceramic connector 15A 

16 Screw nickel-plated M4*35 

17 Power cord 3*1.5mm² 

18 Front slag box 

19 Rear slag box 

20 Hex screw M6*40 

21 Lower plate 

22 Nut round nut M6 

23 Upper plate 

24 Upper heating tube 

25 Bellow 4'  (420mm） 

26 External thread bushing 4'  

27 Upper cover sheet metal assembly 

28 Lower  heating tube 

29 Fixation for heating tube 

30 Plate for fixing the insulation cotton 

 

 


